MODEL 3200/3220/3300/240 UP TO 20°2°W x 18°0°H OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS [rev DATE DESCRIPTION

CLOPAY MODEL 3200: 24 GA. EXTERIOR STEEL SKIN AVAILABLE (1/8” DSB, 1/8” ACRYLIC, 1/4” WIRE, 1/2" 00| 7/02/07 INITIAL_RELEASE
CLOPAY MODEL 3220: 20 GA. EXTERIOR STEEL SKIN INSUL.). FULL VISION SECTIONS TO HAVE 3" STRUT &
CLOPAY_MODEL 3300: 24 GA. EXTERIOR STEEL SKIN VIEW "B’ 2”X2” ANGLE. L—ANGLE NOT REQ’D FOR TOP SECTION.
HOLMES MODEL 240: 24 GA. EXTERIOR STEEL SKIN N/A FOR 3300 MODEL.
OPTIONAL 28" X 14" (MAX) DSB GLASS, INSULATED OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SUIT)
GLASS OR ACRYLIC WINDOW LITES. 10, QVERLAR= |7/ 16 GA. MIN. GALV. STEEL DOUBLE END STILE
/ / / / / OPTIONAL ACRYLIC IS PLASKOLITE _(EACH SIDE) |
N/ /4 N/ /4 N W/ W7/ " W/ OPTIX, AN APPROVED CC2 PLASTIC IN y 4
, % COMPLIANCE WITH IBC/FBC 2606.
= SEE JAMB ATTACHMENT — | y |
ILLUSTRATIONS
4 4 4 4 / 4 VIEW “A’ VERTICAL TRACK CAN BE EITHER BRACKET
A A A mn wm MOUNT, CONTINUOUS ANGLE OR REVERSE
A H H £ {5 % ANGLE TRACK. FASTENED TO JAMB WITH 14 GA. GALV. STEEL CENTER HINGE
v v v = - 5/16"x1-5/8" LAG SCREW OR 3/8"x1” FASTENED TO INSIDE SKIN Wé&fé) .
R g SELF TAPPING SCREW EVERY 24”. #14x5/8" SHEET METAL SCR (VIEW "B")
\_ 2” GALV. STEEL TRACK FASTENED
0 0 N 0 TWO TO 12 GA. GALV. STEEL TRACK CLIPS. 4 GA. GALV. STEEL ROLLER HINGE FASTENED TO
=, = =, = POINT TRACK ATTACHED TO EACH CLIP END STILES W/(4) #14x5/8" SHEET METAL SCREWS
LOCKING WITH ONE 1/4°x5/8” BOLT & NUT.
EACH TRACK CLIP ATTACHED TO »
R o ST 2" STEEL LONG STEM ROLLER, WITH STEEL OR NYLON TIRE.
K - 3 (2) 1/4” DIA. RIVETS PER cLIP.  JAMB CONFIGURATION DOUBLE HORIZONTAL
i = NOTE: DOUBLE TRACK LOW HEADROOM, HI—LIFT TRACK
3" TALL U—BAR TRACK, FOLLOW—THE—ROOF TRACK, AND VERTICAL SILICONE FILLED CHANNEL SEPARATES
LIFT TRACK ARE AVAILABLE OPTIONS. 3” TRACK FRONT AND BACK SKIN OF DDOR
MAX. DOOR WIDTH 20°'—2" ALSO AVAILABLE.

3” THICK (3300)
|—2" THICK (3200, 3220, 240) DOUBLE TRACK

LOW HEADROOM OPTION

D
3
D

(4) #14x5/8" SHEET DOOR INSTALLER (TO SUIT

Q
Q

HORIZONTAL TRACK SUPPORT BS‘#

7 105" THICK, 14 DENSITY
o/ METAL SCREWS % EXPANDED  BoLYsTY
_ 7 EOAM INSULATION | AMINATED
. DOOR HEIGHT ‘A NUMBER OF == TO_BOTH EXTERIOR AND
—r— I SECTIONS 7 INTERIOR SKINS.
g,‘g., TR =0 g 12 GA. GALV. STEEL CONTINUOUS 1-5/8”" x 2-3/8" 12 GA. GALV. STEEL TOP ROLLER BRACKET
2 =) ANGLE. ANGLE FASTENED TO WOOD JAMB WITH EACH BRACKET ATTACHED w/(r
]g,—g,, mgg ]i,—g,, ? A 5/16” X 1-5/8" WOOD DOOR SHERT VETAL 'SCREWS. ADUUSTABLE SLIPE ATTACHED
— —, £ LAG SCREWS ON 24" " » TO TOP BRACKET WITH (2) 1/4"x1/2" BOLTS AND
14 GA. END HINGE 14 GA. {/'\EVRMSP'ATE HINGE 11"6'5,‘%, TT:F;LLJJ 112,‘%,, 2 S CENTERS R NUTS PER BRACKET.
VIEW "A” VIEW "B” — - s . :
NOTE: THE DESIGN OF THE SUPPORTING z 1%’_%” 1?2” : 37 TakL x 20 A, GALY. STEEL U BARS. EotH
NOTE: =0 1112" U-BAR TO BE ATTACHED WITH TWO 1/4°x3/4"
STRUCTURAL ELEMENTS ARE THE RESPONSIBILITY S IRACK CONFIGURATION 12=07[136" TONGUE AND SELF TAPPING = SCREVS PER STILE LOCATION.
OF THE PROFESSIONAL OF RECORD FOR THE = el 14'—07[160” GROOVE JOINTS (> U-BARS ON BOTTOM SECTION <D ON EACH
BUILDING OR STRUCTURE AND IN ACCORDANCE I 15—07172 OTHER SECTION.
WITH CURRENT BUILDING CODES FOR THE = 2" GALV. STEEL TRACK, 6'—0]184"
LOADS LISTED ON THIS DRAWING. S nn TRACK THICKNESS: .075 ;:8,282" — 14 GA. GALV. STEEL ROLLER HINGE. EACH HINGE
JAMB o FASTENED TO END STILES W/(4) #14x5/8" SHEET
ATTACHMENT 3/16" MIN. MAY BE BACK— CONCRETE_JAMBS Hl_— TRACK ATTACHED TO EACH TRACK CLIP WITH SCREWS. (SEE VIEW A)
ILLUSTRATIONS |  STEEL JAMB FILLED WITH 2000 PS| MIN. o K ONE 1/4"x5/8” BOLT AND NUT PER TRACK CLIP.
CONCRETE, BUT CONCRETE = f
NOT REQUIRED. 3" a . TYP. 2—1/2"x12 GA. GALV. STEEL TRACK CLIP.
1/4°x3 ) L | 24"0.c.
__ (MIN. EMBED 1-1/27) 24 GA. MIN. EXTERIOR STEEL SKIN
"x1” TAPCON FASTENER. WITH GALV. BAKED—ON PRIMER
1/8”x1” LONG y 1” WASHER REQ’D :
FILLET WELD (E6OXX » : AND A BAKED—ON POLYESTER TOP 27 GA. INTERIOR SKIN WITH GALV.,
ELECTRODE MIN.). WELD % shéé)t(iRgiNcLE COAT APPLIED TO BOTH SIDES OF BAKED-ON PRIMER AND A BAKED-ON
STEEL JAMBS STEEL SKIN.
E(,)\, iE,G'L%C/ZTrE%4¥ERT'CALLY - TO CONCRETE ; TO BOTH SIDES OF STEEL SKIN.
12 GA. GALV. REVERSE : ' SLIDE BOLT
@ETBEFéoéNgFTﬁ%LE AT OR CONTINUOUS ANGLE éﬁ %%N%ﬁbvéuﬁi?& E'II\'IIEE LOCK ENGAGES 12 GA. GALV. STEEL BOTTOM BRACKET.
MOUNT TRACK FASTENED INTO VERTICAL ATTACHED WITH (4) #14x5/8” SHEET METAL SCREWS.
SAME. SPACING. DIRECTLY TO STEEL JAMB MOUNT JRACK TESTENED THIS DOOR MEETS OR EXCEEDS THE DESICN TRACK. ONE
DIRECTLY TO STEEL JAMB. LOADS FOR THE WIND SPEEDS LISTED BELOW LOCK ON ALUMINU(M EXTRUS;ON & VINYL WEATHERSTRIP.
2,000 PSI MIN. CONCRETE WOOD JAMBS ACCORDING TO THE INTERNATIONAL EACH SIDE SECTION A—A (SIDE VIEW
’ —_—— n_ n BUILDING CODE FOR THE FOLLOWING
3/8"X3” SLEEVE ANCHOR 14" X 3/4” 3/8°x3” (MIN. CONDITIONS: 1) ENCLOSED BUILDING, 2) DOOR OF DOOR. DESIGN ENGINEER: MARK WESTERFIELD,
BOLT. MIN. ENBEDED 3/16” MIN. / { /EMBED 1-1/27)  |HAS 2 OF WIDTH IN BUILDING'S END ZONE, | INSIDE _SLIDE_BOLT, P.E. FLORIDA P.E. #48495, NC P.E. #23832,
SELF TAPPING 3) IMPORTANCE FACTOR OF 1.0, 4) ANY ROOF| LOCK OPTION THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
" . STEEL JAMB LAG SCREW LOCK OPTION
1-1/2" WASHER INCL'D. SCREW. - SLOPE, AND 5) 50% SAFETY FACTOR. WND LOAD REQUIREMENTS OF THE FLORIDA BULDING CODE_ TEXAS P.E. #91513
24" MAX. 0.C. TO 17" MAX. 0.C. WA,,SHER REQ D. WIND_SPEED (MPH) | <90 IMPACT RESISTANT REQUIREMENT FOR WINDBORNE DEBRIS DESIGN LOADS: +13.5, —13.5 PSF
SECURE 2x6 JAMB TO TO SECURE 24" MAX. O.C. TO JEXPOSURE LEVEL | B REGIONS (REF. CHAPTERTS FBC/IEC) TEST LOADS: +20, —20 PSF
: CONCRETE. ANGLE TO SECURE 2x6 WOOD | MEAN ROOF HEIGHT|< 30
. WOOD JAMB ON CONCRETE STEEL JAMB. JAMB TO_WOOD - SCALE: | OTED CLOPAY WINDLOAD RATING | MAX. SIZE:
12 GA BRADIHCTRE- CLOPAY BUILDING PRODUCTS COMPANY 20'-2" X 18'-0"
12 GA. BRACKET OR STEEL JAMBS . 8585 DUKE BLVD DATE:
CONTINUOUS ANGLE . CONTINUOUS ANGLE MOUNT - . 02/02,/06 DESCRIPTION
MOUNT TRACK FASTENED MAY BE BACK— 12 GA. GALV. REVERSE TRACK TO 2x6 FASTENED MASON, OH 45040 DRAWN BY: MODEL 3200/3220 WINDLOAD: 20°2"W
WITH ONE 5/16”x1-5/8" OR CONTINUOUS ANGLE WITH ONE 5/16"x1-5/8 HPAE (513) 770—4800 BFA
FILLED WITH Building Products
LAG SCREW PER TRACK CONCRETE. BUT MOUNT TRACK FASTENED LAG SCREW PER TRACK g SECED B DRAWING NUMBER:
BRACKET LOCATION. NOT REQL’“RED. DIRECTLY TO STEEL JAMB. BRACKET LOCATION. CompCI ny Clopay Corporation All Rights Reserved. B 103619




